EECS20n, Quiz 8, 05/07/04

Last Name First Lab time

Let the continuous-time signalgiven by
VteReals c(t)=2cos(w.t)

be a carrier wave for a radio signal. Legiven by
VteReals z(t) =2cos(wyt)

be the signal to be carried by that radio signal (that it, it is a highly simplified stand-in for, say, a
voice signal). To be concrete, ket = 27 - 8000 radians/second, ang, = 2 - 400 radians/second.

1. Find and sketch the CTFYT of y where
VteReals y(t) =c(t)z(t).

Label your sketch carefullyint: The CTFT ofe’°! is 25 (w — wp).

2. Lety from partl be the input to an LTI system with frequency respohsehere

0 ifw<o0

vV w € Reals H(w)—{ 1 ffws0

Find the output: as a function of.



